
English vocabulary
6  O C T  2 0 1 7



TAKE CRACKU'S FREE CAT MOCK

DOWNLOAD OUR TOP RATED APP

Question 1: 

Fill in the Blanks: The __________, those cellular bodies 
which contain the __________ particles, the genes, provide 
us with basic facts of genetic transmission. 

A.protoplasm, microscopic 
B.globules, fat 
C.cytoplasm, minute 
D.chromosomes, hereditary 

Question 2: 

Fill in the Blanks: The insurance claim was __________ by 
the relevant documents 

A.sustained  
B.backed out  
C.backed up  
D.proved 

Question 3:Fill in the Blanks: I should not have 
__________ to talk in such a __________ strain especially 
when I had not studied the man to whom I was talking. 

A.daring, commanding  
B.try, bold  
C.ventured, peremptory  
D.emboldened, reckless 
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Question 4:Fill in the Blanks: High prices are often the 
__________ of __________ of goods 

A.accompaniment, dearth 
B.concomitant, scarcity 
C.cause, destitution 
D.result, glut 

Question 5:Fill in the Blanks: The recent disturbances in the 
country will __________ and peace will be restored. 

A.blow past  
B.blow over  
C.pass through  
D.come to pass 

Solutions: 

1) Answer (D) 

Among the options, the only word that is applicable in the 
second blank is 'hereditary', because that is what 'genes' are 
associated with. Option d) is the correct answer. 
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2) Answer (C) 

A claim should be supported by relevant documents. 
The phrasal verb to be used in this context is 'backed up', 
which means 'supported'. 
Option c) is the correct answer. 

3) Answer (C) 

The word in the first blank should be a verb in the past 
tense. This rules out options a) and b). The meaning of 
'peremptory' is 'insisting on immediate obedience or 
attention'. This is a better fit in the second blank compared 
to 'reckless'. Option c) is the correct answer. 

4) Answer (A) 

The sentence is trying to convey the idea that high prices 
often accompany a scarcity of goods. From the options, the 
best combination of words in this context is 'accompaniment' 
and 'dearth', which means 'scarcity'. Option a) is the correct 
answer. 

5) Answer (B) 

The correct phrasal verb that should be used in this context 
is 'blow over', which means 'fade away without any serious 
consequences'. Option b) is the correct answer. 

200 solved questions for CAT

http://cracku.in/cat/previous-cat
https://play.google.com/store/apps/details?id=in.cracku.app&hl=en
https://itunes.apple.com/in/app/cracku-cat-banking-ssc/id1222556157?mt=8
https://cracku.in/pay/2rbiA
https://cracku.in/pay/2rbjt
https://cracku.in/pay/2rbks
https://cracku.in/cat/study-room

